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Ques 1- The largest number, which divides  25,73  and  97  to leave the same 

remainder in each case, is

सबसे बड़ी संख्या, जो 25,73 और 97 को विभावजत करके प्रत्येक वथिवत में समान शेष छोडे, है

a) 24 

b) 23

c) 21

d) 16
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Ques 2- A water pump can fill a tank in 2 hours. Because of a leak in the tank it takes 

4 hours to fill the tank. If the tank is full, how much time will the leak take to empty 

it ?

एक पाऩी का पंप एक टंकी को 2 घटें में भर सकता ह।ै टंकी में ररसाि के कारण टंकी को भरने में 4 घटें का

समय लगता ह।ै यवि टंकी भर गय़ी ह,ै तो ररसाि को इसे खाल़ी करने में वकतना समय लगेगा?

a) 5 hours

b) 2 hours

c) 4 hours

d) 3 hours
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Ques 3- Karan purchased 5 shirts at an average cost of Rs 1524. If he buys two more 

shirts at an average cost of Rs.1881. What will be the average cost of all the shirts he 

buys?

करण 1524 रुपये की औसत कीमत पर 5 शटट खऱीिता ह।ै यवि िह 1881 रुपये की औसत कीमत पर िो 

और शटट खऱीिता ह।ै उसके द्वारा खऱीि़ी गई सभ़ी कम़ीजों का औसत मलू्य ्या होगा?

a) 1650         

b) 1285 

c) 1626         

d) 1254 
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Ques 4- The ratio of the ages of A and B, four year ago, was 4:5. Eight years from 

now, the ratio of the age A and B will be 11:13. What is the sum of their present 

ages?

चार िषट पिूट A और B की आय ुका अनपुात 4:5 िा। अब से आठ िषट बाि, A और B की आय ुका 

अनपुात 11:13 होगा। उनकी ितटमान आय ुका योग ्या ह?ै

a) 80       

b) 60

c) 72         

d) 90 
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Ques 5- The LCM of 2 numbers is 96. They are in the ratio 3 : 4. What is the 

difference between the numbers?

2 संख्याओ ंका लघतु्तम समापित्यट 96 ह।ै िे 3 : 4 के अनपुात में हैं। संख्याओ ंके ब़ीच ्या अंतर ह?ै

a) 8

b) 6

c) 9

d) 10
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Ques 6- A boat travels a distance of 78 km in the downstream direction and it travels 

a distance of 56 km in the upstream direction. If the speed of the boat in still water is 

20 km/h and the speed of the current is 6 km/h. Find the time taken by boat to travel 

the total distance.

एक नाि धारा के अनकूुल विशा में 78 वकम़ी की िरू़ी तय करत़ी ह ैऔर यह धारा के प्रवतकूल विशा में 56 

वकम़ी की िरू़ी तय करत़ी ह।ै यवि वथिर जल में नाि की गवत 20 वकम़ी/घटें ह ैऔर धारा की गवत 6

वकम़ी/घटें ह।ै नाि द्वारा कुल िरू़ी तय करने में लगने िाला समय ज्ञात कीवजए।

a) 6 hours

b) 7 hours

c) 8 hours

d) 9 hours
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Ques 7- The length of the rectangle is 40% more than the breadth of the rectangle. If 

the diagonal of the rectangle is 2√74 cm. Find the area of the rectangle. (in cm2)

आयत की लंबाई, आयत की चौडाई से 40% अवधक ह।ै यवि आयत का विकणट 2√74 सेम़ी ह,ै तो 

आयत का क्षेत्रफल (िगट सेंट़ीम़ीटर में) ज्ञात कीवजए।

a) 240 cm2

b) 100 cm2

c) 80 cm2

d) 140 cm2



TARGET MATHS- 25/25

Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level

Ques 7- The length of the rectangle is 40% more than the breadth of the rectangle. If 

the diagonal of the rectangle is 2√74 cm. Find the area of the rectangle. (in cm2)

आयत की लंबाई, आयत की चौडाई से 40% अवधक ह।ै यवि आयत का विकणट 2√74 सेम़ी ह,ै तो 

आयत का क्षेत्रफल (िगट सेंट़ीम़ीटर में) ज्ञात कीवजए।

a) 240 cm2

b) 100 cm2

c) 80 cm2

d) 140 cm2



TARGET MATHS- 25/25

Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level

Ques 8- The twice of a number when added to 15 gives 121.When the digits of this 

number is reversed, then the twice of new number formed is greater than the original 

number by a. Then the square of a is –

एक संख्या के िोगनेु को जब 15 में जोडा जाता ह ैतो 121 प्राप्त होता ह।ै जब इस संख्या के अंकों को उलट 

विया जाता ह,ै तो बनने िाल़ी नई संख्या का िोगनुा मलू संख्या से a अवधक होता ह।ै तब a का िगट ह ै-

a) 256

b) 289

c) 324

d) 361
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Ques 9- 275 + 313 is divisible by

275 + 313 वकससे विभाज्य ह?ै

a) 256

b) 289

c) 324

d) 361
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Ques 10- Two pipes A and B can fill an empty tank in 8 hours and 12 hours respectively. A 

third pipe C can empty the full tank in 15 hours. When the tank is empty, pipes A and B are 

opened and after 2 hours pipe A is closed and pipe C is opened. In how many hours, the tank 

will be completely filled?

िो पाइप A और B एक खाल़ी टंकी को क्रमशः 8 घटें और 12 घटें में भर सकते हैं। एक त़ीसरा पाइप C, भऱी हुई 

टंकी को 15 घटें में खाल़ी कर सकता ह।ै टंकी खाल़ी होने पर पाइप A और B खोले जाते हैं और 2 घटें बाि पाइप 

A बंि वकया जाता ह ैऔर पाइप C खोला जाता ह।ै वकतने घटंों में, टंकी परू़ी तरह से भर जाएग़ी?

a) 35

b) 37

c) 30

d) 36
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Ques 11- A and B together can do a piece of work in 8 days, B and C together can do it in 

12 days, and A, B and C together can do it in 6 days. They started the work together. After 4 

days, B left. The remaining work will be finished bywork A and C together in:

A और B एकसाि एक काम को 8 विनों में, B और C एकसाि इसे 12 विनों में और A, B और C एकसाि इसे 6 

विनों में परूा कर सकते हैं। िे एकसाि काम प्रारंभ करते हैं। 4 विनों के बाि, B काम छोड ितेा ह।ै शेष काम A और 

C द्वारा एकसाि वकतने विनों में परूा वकया जायेगा:

a) 5

b) 4

c) 2 
2

3

d) 2 
1

3
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Ques 12- The sum of the radius of the base and the height of a solid right circular cylinder 

is 39 cm. Its total surface area is 1716 cm2. What is the volume (in cm3) of the cylinder? 

एक ठोस लम्ब ितृ्त़ीय बेलन के आधार की वत्रज्या और ऊँचाई का योग 39 सेम़ी ह।ै इसका कुल पषृ्ठ़ीय के्षत्रफल 

1716 िगट सेम़ी ह।ै बेलन का आयतन (घन सेम़ी में) वकतना ह?ै (π = 
22

7
ल़ीवजए)

a) 7

b) 14

c) 21

d) 10.5
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Ques 13- If the ratio between the curved surface area and the total surface area of a right 

circular cylinder is 15 : 22, find the ratio of the height to the diameter of the cylinder.

यवि एक लम्ब ितृ्त़ीय बेलन के िक्र पषृ्ठ़ीय के्षत्रफल और कुल पषृ्ठ़ीय के्षत्रफल के ब़ीच का अनपुात 15 : 22 ह,ै तो 

बेलन की ऊँचाई का व्यास से अनपुात ज्ञात कीवजए।

a) 15 : 22

b) 22 : 15

c) 14 : 15

d) 15 : 14
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Ques 14- A train crosses a man walking at 5 m/sec in the same direction as that of the train 

in 
25

2
sec and the same train crosses a man walking at 5 m/sec in the opposite direction as 

that of the train in 
25

2
sec. Find the length of the train. (in m)

एक टे्रन, टे्रन के समान विशा में 5 म़ीटर/सेकंड की गवत से चल रह ेएक व्यवि को  
25

2
सेकंड में पार करत़ी ह ैऔर 

िह़ी टे्रन, टे्रन के विपऱीत विशा में 5 म़ीटर/सेकंड की गवत से चल रह ेएक व्यवि को 
25

2
सेकंड में पार करत़ी ह।ै टे्रन 

की लंबाई (म़ीटर में) ज्ञात कीवजए।

a) 250 m

b) 150 m

c) 500 m

d) 125 m
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sec. Find the length of the train. (in m)

एक टे्रन, टे्रन के समान विशा में 5 म़ीटर/सेकंड की गवत से चल रह ेएक व्यवि को  
25

2
सेकंड में पार करत़ी ह ैऔर 

िह़ी टे्रन, टे्रन के विपऱीत विशा में 5 म़ीटर/सेकंड की गवत से चल रह ेएक व्यवि को 
25

2
सेकंड में पार करत़ी ह।ै टे्रन 

की लंबाई (म़ीटर में) ज्ञात कीवजए।

a) 250 m

b) 150 m

c) 500 m

d) 125 m
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Ques 15- The angle of depression of two ships from the top of a light house are 450 and 300 

towards east, if the ships are 732 meter apart. Find the height of light house. 

एक लाइट हाउस के श़ीषट से पिूट की और िो जहाजों का अिनमन कोण 450 और 300  ह।ै यवि िोनों जहाजों की 

िरु़ी 732 म़ीटर ह ैतो लाइट हाउस की उचाई ज्ञात करो?( 3=1.732)

a) 1000

b) 800

c) 750

d) 600
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Ques 16- The Angle of elevation of the top of a tower from  two points at a distance x and y 

from the foot of the tower are complementary. The height of the tower is:

उिा: टॉिर के पाि से x और y की िरू़ी पर वथित िो वबंिओु ंसे एक टॉिर के श़ीषट के उन्नयन के कोण कोवट परूक ह।ै 

टॉिर की ऊंचाई ह:ै

a) xy

b) x

c) y

d) 𝑥𝑦
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Ques 17- A 400 metres long train moves with a speed of 72 km/hr and crosses a boundary 

of a steel factory in 2 minutes. How much time (in seconds) would it take to cross the 

boundary if the boundary was 500 metres shorter?

एक 400 म़ीटर लंब़ी टे्रन 72 वकम़ी/घटंा की गवत से चलत़ी ह ैऔर 2 वमनट में एक इथपात कारखाने की स़ीमा को 

पार करत़ी ह।ै यवि स़ीमा 500 म़ीटर छोट़ी होत़ी तो स़ीमा को पार करने में वकतना समय (सेकंड में) लगेगा?

a) 65 seconds

b) 105 seconds

c) 95 seconds

d) 85 seconds
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Ques 18- A train 225 m long is running at a speed of 145 km/hr. What is the time (in 

seconds) in which it will pass a man who starts from the engine running at the speed of 17 

km/hr in the direction opposite to that of the train?

एक 225 m लंब़ी रेलगाड़ी, 145 km/hr की चाल से चल रह़ी ह।ै कोई व्यवि इजंन से शरुू करके 17 km/hr की 

चाल से रेलगाड़ी की विपऱीत विशा में चलना शरुु करता ह।ै रेलगाड़ी उस व्यवि को वकतने समय में (सेकंड में) पार 

करेग़ी?

a) 4

b) 5

c) 6

d) 7
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Ques 19- The length of the first diagonal of the rhombus is 8 cm and the length of the other 

diagonal is 16 cm. Find area of rhombus ?

समचतभुुटज के पहले विकणट की लंबाई 8 सेम़ी और िसूरे विकणट की लंबाई 16 सेम़ी ह।ै समचतभुुटज का के्षत्रफल 

ज्ञात कीवजये?

a) 128 cm2

b) 64 cm2

c) 32 cm2

d) 48 cm2
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Ques 20- How to Find HCF of 108, 288 and 360?

108, 288 और 360 का HCF कैसे ज्ञात करें?

a) 36

b) 24

c) 18

d) 8
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